
 cf=j=@)*).)*! df g;{/Ldf pknJw lj?jfsf] ljj/0f 

l;=g+= hft 

l8leh

g 8f]xf]6] 

b'uf{kmfF

6 dy'/f 

dfnf/fg

L 

e'ldsf:yf

g hDdf 

1 lrp/L 13000     620   2000 15620 
2 d;nf 2000         3800 5800 

3 t]hkft 4000     
1934

0 10600   
3394

0 
4 w'kL 500           500 
5 sNsL 300     1200   3450 4950 
6 6fFsL 5000         1150 6150 
7 afF; 400           400 
8 kfl/hft 400           400 
9 a8x/ 3000 700         3700 

10 cDaf 300           300 
11 e'6's 200           200 
12 >Lv08 400     400     800 

13 
lztnlrg

L   2000         2000 
14 lsDa'   1200         1200 
15 a]n   3000         3000 
16 5ltjg   800         800 
17 v/L   800         800 
18 cdnf   50         50 
19 l6d'/       2350 435   2785 
20 nK;L       750 670   1420 
21 a}+;       200 600   800 
22 OlknOlkn       650   1180 1830 
23 asfOgf]         235 600 835 
24 k}o'F         160   160 
25 vo/           2112 2112 

    

2950
0 8550 0 

2551
0 12700 14292 

9055
2 

          

 

 

mailto:cf=j=@)*).)*


vl/b ul/g] l6d'/sf lj?jf M !%))) uf]6f     j[Iff/f]k0f ug{ ;lsg] If]q M &!=%& 

 

cf=j=@)*).)*! df j[Iff/f]k0fsf nflu pknAw ah]6sf] ljj/0f M 

l;=g+= sf=lz=g+= a=p=lz=g+= sfo{qmd ah]6 

?= 

nfv 

x]S6/ 

1 11.4.17.223 329000184 jg If]qsf] j[Iff/f]k0f / ;+/If0f 12 10 

2 11.4.22.81 ks]6 If]qdf h8La'6L v]tL lj:tf/ 5 5 

3 11.4.17.221 Ps ks]6 If]q Ps h8La'6L v]tL lj:tf/df 

s[ifsnfO{ ;x'lnot 

6.75 18 

4 11.4.17.223 ks]6 if]qdf ;fd'bflos tyf ;fj{hflgs 

hUufdf h8La'6L v]tL lj:tf/df ;xof]u 

2 2 

5 11.4.17.222  ut ljut jif{x?df /f]k0f ePsf If]qsf] k'g 

/f]k0f 

1.5 30 

    27.25 65 

 

 cf=j= @)*).)*! df j[Iff/f]k0f ul/g] If]qsf] ljj/0f 

l;=g+= sfo{qmd If]q If]qkmn lj?jfsf] >f]t lhDd]jf/ JolQm 

! jg If]qsf] j[Iff/f]k0f 

/ ;+/If0f 

kfl0fgL 2 b'uf{kmfF6  

 

km= lbks kf08] 

lztu+uf 2 8f]xf]6] km= od axfb'/ s]=;L 

;lGwvs{ 2 ;lGwvs{ j=j=c= pd]z s'df/ zfx 

dfnf/fgL 

5qb]j 

2 5qb]j÷dfnf/fgL j=j=c= df]xg ld> 

mailto:cf=j=@)*).)*


e'ldsf:yfg 2 e'ldsf:yfg j=j=c= pd]z s'df/ zfx 

@ ks]6 If]qdf 

;fd'bflos tyf 

;fj{hflgs hUufdf 

h8La'6L v]tL 

lj:tf/df ;xof]u 

;lGwvs{ 2 ;lGwvs{÷dy'/f dy'/f uf]k]Zj/ 

;f=j=,;lGwvs{ * 

# 

ks]6 If]qdf h8La'6L 

v]tL lj:tf/ 

dfnf/fgL 2 dfnf/fgL b]p/fnL 

;f=j=p=;=,dfnf/fgL $ 

e'ldsf:yfg  3 ;lGwvs{÷e'ldsf:yfg wgrf}/ hfu[lt s[lif tyf 

kz'k+IfL ;d'x 

$ ut ljut jif{x?df 

/f]k0f ePsf If]qsf] 

k'g /f]k0f 

 30  ut jif{ j[Iff/f]k0f ePsf 

If]q 

% Ps ks]6 If]q Ps 

h8La'6L v]tL 

lj:tf/df s[ifsnfO{ 

/f]k0f ;x'lnot 

 18  dfudf cfwfl/t s[ifsx? 

^ cGo j[Iff/f]k0f  65   

      

  

 


